Title: Light Emitting Diode (LED) Streetlight Conversion – Installation in Antioch, CA (P.W.700-3) Bids to be received by 2:00 p.m. September 16, 2025 Office of the City Clerk, City Hall, Antioch, CA

#### SCHEDULE OF BID PRICES

Note that LED Luminaires, kits, bulbs, photo controllers or wireless controllers, fuses, fuse holders, and arms will be provided by the City; all other materials to be supplied by Contractor

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	LS	1	Mobilization, complete in place for the lump sum price.	\$ 3,000.00	\$ 3,000.00
2.	LS	1	Traffic control, complete in place for the lump sum price.	\$ 8,000.00	\$ 8,000.00
3	EA	783	Cobra Head Retrofit, complete in place for the unit price per each.	\$ 55.00	\$ 43,065.00
4.	EA	264	Non-Cobra Head Screw-In Retrofit , complete in place for the unit price per each	\$110.00	\$ 29,040.00
5	EA	7	LED Flood Light Installation, complete in place for the unit price per each	\$ 460.00	\$3,220.00
			TOTAL BID PRICE:	\$ 86,32	5.00

TOTAL BID PRICE: Eighty Six Thousand Three Hundred Twenty Five Dollars
(Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Signature of Bidder

Bear Electrical Solutions, LLC.

**Company Name Printed** 

## LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. N/A				
2.				
3.				
4.				
5.				
6.				
7.				
8.		2		
9.				
10.				
11.				
12.				
13.				
14.				
15.				

**END LIST OF SUBCONTRACTORS** 

Title: Light Emitting Diode (LED) Streetlight Conversion – Installation in Antioch, CA (P.W.700-3) Bids to be received by 2:00 p.m. September 16, 2025 Office of the City Clerk, City Hall, Antioch, CA

# SCHEDULE OF BID PRICES

Note that LED Luminaires, kits, bulbs, photo controllers or wireless controllers, fuses, fuse holders, and arms will be provided by the City; all other materials to be supplied by Contractor

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	LS	1	Mobilization, complete in place for the lump sum price.	\$ 5,800.00	\$ 5,800.00
2.	LS	1	Traffic control, complete in place for the lump sum price.	\$ 5,800.00	\$ 5,800.00
3.	EA	783	Cobra Head Retrofit, complete in place for the unit price per each.	\$ 77.00	\$ 60,291.00
4.	EA	264	Non-Cobra Head Screw-In Retrofit , complete in place for the unit price per each	\$ 93.00	\$ 24,552.00
5.	EA	7	LED Flood Light Installation, complete in place for the unit price per each	\$ 93.00	\$ 651.00
			TOTAL BID PRICE:	\$ 97,094.0	0

TOTAL BID PRICE: Ninty Seven Thousand, Ninty Four Dollars
(Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder
Guy Smith, President

Signature of Bidder Ryan Dunham, Vice President

St. Francis Electric LLC.

**Company Name Printed** 

## LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1,				
2.	N/A			
3.				
4.				
5,				
6.				
7.				
8,				
9.				
10.				
11,				
12.				
13.				
14.				
15.				

**END LIST OF SUBCONTRACTORS** 

Title: Light Emitting Diode (LED) Streetlight Conversion – Installation in Antioch, CA (P.W.700-3) Bids to be received by 2:00 p.m. September 16, 2025 Office of the City Clerk, City Hall, Antioch, CA

#### SCHEDULE OF BID PRICES

Note that LED Luminaires, kits, bulbs, photo controllers or wireless controllers, fuses, fuse holders, and arms will be provided by the City; all other materials to be supplied by Contractor

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	LS	1	Mobilization, complete in place for the lump sum price.	\$8177.00	8177.°C
2.	LS	1	Traffic control, complete in place for the lump sum price.	\$ 21, 093	21,093.
3.	EA	783	Cobra Head Retrofit, complete in place for the unit price per each.	\$ 82.00	64,206
4	EA	264	Non-Cobra Head Screw-In Retrofit , complete in place for the unit price per each	\$119.00	31,416.
5.	EA	7	LED Flood Light Installation, complete in place for the unit price per each	\$ 2 Z4. °°	\$ 1568.°°
			TOTAL BID PRICE:	\$ 126,	460.00

TOTAL BID PRICE: ONE HUNDRED TWENTY SIX THOUSAND, FOUR HUNDRED SIXTY DOLLARS ? NO (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Signature of Bidder

DC Electric Group, Inc.

**Company Name Printed** 

### LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. None				
2.				
3.				
4.				
5.				
6,				
7,				
8.				
9.				
10.				
11,				
12.				
13.				
14.				
15.				

**END LIST OF SUBCONTRACTORS**